Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3342201 Date: 12/12/2015
Subject Name: Mine Surveying - |
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU, 14
1.  Define True dip and Apparent dip.
Lo g SlU el A2 Slua cavauRd 53,
2. What is Traversing ?
. HIARWYL Aed 9 ?
3.  Define : Face right and Face left observation
3. ¥ RAse Aa U Ase [Alaal cavaulRd 3.
4.  What is bearings ?
¥. GRolweA g ?
5. Define : Transiting
U ele{lElol AHestaAl.
6. Define: Swinging the telescope and Telescope normal
5. 2AsluUc] RABIoL WAl 2[AEU A et UMt
7. Give the names of steps included in temporary adjustment of theodolite.
9.  [Qaslcussee(l stHUAAG s cRIHL UHLIcHL Alcldl UDLARASHL
ol Al
8.  Define: (1) Back sight (2) Fore sight
C. vl AU : (1) As A2 (R) SR wee
9.  Define: (1) Strike Line (2) Line of collimation

clludl AU : (1) WSS W () slellRatet
10.  Give the names of errors in theodolite
0. [([QASleugFeui adl oAlotl oliH WL

Q

Q.2 (@) Explain the Repetition method for measuring horizontal angle. 03

U2 () YoRladat usild ad allder slgl Hiuaoll I questal. 03
OR

(@) Explain the Reiteration method for measuring horizontal angle. 03

@) et urad a3 aldes slel Hiucloll Id wHestal. 03

(b)  Explain temporary adjustment of theodolite. 03
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(Qs\ceS 2ol el ollsctal AHestA.

OR
Explain permanent adjustment of theodolite.

(Qslces 2ol el ol AHestAl.

Explain various uses of theodolite in mine surveying.

wRL ARl [RAS\ceg2atl Ael-ael GUADN AU
OR

Draw a neat sketch of a vernier theodolite and name its various parts.
[Q2AS\cueS2oll 129 sl €11 el Aotl Y EL-YEL ANl ollH AL

Differentiate between open traverse and closed traverse.
Vel HIAURMEL Al 6itl HIARMEL AR dstad AW,

OR
Explain the Bowditch’s method.
WGB3 U Ut AHestAl.
Explain the Transit rule.
2loofle ([Aaum AHestal.

OR

Explain in brief closing error.

sAAoL AR UARAR UMl
Explain any one fast needle method.
slfuel As sl ollsel Ad Auresal.

OR
Explain any one loose needle method.

SlSURL As 4 ollset At Auestal.
Explain subsidence measurement.

A3 HuRll AHest A
OR

Explain any one method for measuring the depth of vertical shaft.

Alell wseoll Astes Hual Hizell 815 As utuld AHsAl.
Explain in brief tests of a miner’s dial.
IS St} 22101 A[ARctR AHsLA.

OR
Explain advantages and disadvantages of dial surveying.

stAC A delalell St2LEL Vol ARFLAEIR AW,

Convert this W.C.B to R.B (1) 35° (2) 125° (3) 185°
W.C.Ba R.B Hi ¥cl. (1) 35°(R) 125° (3) 185°

OR
Convert this R.B to W.C.B (1) N 45° E (2) S 35°E (3) S 65° W

RBaAW.CB Hi ¥2cl. (1)) N45°E () S35°E (3) S65° W
Define the terms (1) Latitude (2) Departure
Yeall AUl (1) A& (R) uial

OR
List the steps of carry out traversing adjustment.
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HIARWAL(l o0l M2 sl URallHL teldl watclledl el Al

Draw a neat sketch of miner’s dial and name its various parts.

WA slactell 29 us(A €11 el YEL-EL AUl ollH VAL

Write general requirements of a mine plan.

HLESol Wetlotoll AHLeRL 3R UA AWl

Write importance of surveyor in mining industry.

U Telolo(l wotot GelotHl Mol Aull.

What is local attraction? How to detect local attraction?
wWlls vusyel 9 B 2 wills vusdal 3l A Hua?
Write short note on Gyrotheodolite.

U RSz BLUR &5 ollu Avll.
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